
ASSEMBLY 8
INSTALL BOWL ASSEMBLY
You will need: Bowl assembly, four 5/16-18 x 7/8 inch bolts, four 5/16 inch steel 

washers, four 5/8 inch aluminum washers, four 5/16-18 hex nuts, four 5/16 inch 

lock washers, 1/2 inch open-end or an adjustable wrench and pliers.

Set bowl in frame. Place a steel washer (1) on bolt (2) and insert through frame 

assembly and bowl. Place aluminum washer (3), lock washer (4) and hex nut (5) 

on bolt and tighten. Install the other bolts in locations shown.

INSTALL LID TABS
You will need: Two lid tabs, two 5/16-18 x 7/8 inch bolts, two 5/8 inch 

aluminum washers, two 5/16-18 hex nuts, two 5/16 inch lock washers, 1/2 inch 

open-end or an adjustable wrench and pliers.

Insert bolt (1) through lid tab (2), frame assembly and bowl on outside of caster 

legs. Place aluminum washer (3), lock washer (4), then hex nut (5) on bolt and 

tighten.

6

7

(1)

(2)

(3)

(4)

(5)

(5)

(4)

(3)

(2)

(1)

ASSEMBLY 9

(4)

(5) (1)

(2)

(3)

(6)

INSTALL WIRE LID HOLDER ASSEMBLY
You will need: Wire lid holder assembly and a 1/2 inch open-end or 

an adjustable wrench.

Place lid bushing (5), 5/16 -18 hex nut (4) and 5/16” steel washer (6) 

onto each end of wire lid holder.

Note - Bushings (5) should roll freely on wire lid holder. 

Insert ends of wire lid holder through frame assembly and bowl on outside of 

wheel legs. Place 5/8 inch aluminum washer (3), 5/16 inch lock washer (2) 

then 5/16-18 hex nut (1) on each end of the wire lid holder and tighten.

8

WARRANTY 11
Weber-Stephen Products Co., (Weber) hereby warrants to the ORIGINAL PURCHASER of this 
Weber® One-Touch® Silver, 
One-Touch® Gold, One-Touch® Platinum, Smokey Mountain Cooker™, and Ranch® grills, that it will 
be free from defects in material and workmanship from the date of purchase as follows:

Cooking / Charcoal grates 2 years
Stainless Steel One-Touch™ Cleaning System (One-Touch® Platinum)  10 years
Bowl and lid against rust / burn-through 10 years
Nylon handles 10 years
Thermoplastic/Thermoset Parts(One-Touch® Platinum) 10 years 
excluding fading
All remaining parts 2 years

When assembled and operated in accordance with the printed instructions accompanying it.  Weber may require 
reasonable proof of your date of purchase.  THEREFORE, YOU SHOULD RETAIN YOUR SALES SLIP OR 
INVOICE AND RETURN THE WEBER LIMITED WARRANTY REGISTRATION CARD IMMEDIATELY.
This Limited Warranty shall be limited to the repair or replacement of parts which prove defective under normal 
use and service and which on examination shall indicate to Weber’s satisfaction they are defective. If Weber 
confirms the defect and approves the claim, Weber will elect to repair or replace such parts without charge.  If 
you are required to return defective parts, transportation charges must be prepaid.  Weber will return parts to the 
purchaser, carriage or postage prepaid.
This Limited Warranty does not cover any failures or operating difficulties due to accident, abuse, misuse, 
alteration, misapplication, vandalism,
improper installation or improper maintenance or service, or failure to perform normal and routine maintenance.  
Deterioration or damage due to severe weather conditions such as hail, hurricanes, earthquakes or tornadoes, 
discoloration due to exposure to chemicals, either directly or in the atmosphere, is not covered by this Limited 
Warranty.
There are no other express warranties except as set forth herein, and any applicable implied warranties of 
merchantability and fitness are limited in duration to the period of coverage of this express written Limited 
Warranty.  Some regions do not allow limitation on how long an implied warranty lasts, so this limitation may not 
apply to you.
Weber is not liable for any special, indirect or consequential damages.  Some regions do not allow the exclusion 
or limitation of incidental or consequential damages, so this limitation or exclusion may not apply to you.
Weber does not authorise any person or company to assume for it any other obligation or liability in connection 
with the sale, installation, use, removal, return or replacement of its equipment; and no such representations are 
binding on Weber.

90648 010908

RANCH® KETTLE ADDENDUM SHEET
Please note the following changes to your assembly manual.

Wire lid holder assembly

Two Lid Bushings

Four 5/16 -18 hex nuts

PARTS 9

HARDWARE - STEP 8 9
Two 5/8 inch aluminum 

washers  (actual size)
Two 5/16” lock washers

Two 5/16” Steel washers



All items are single quantities unless otherwise specified. Parts can be ordered from 
Weber-Stephen Products Co. by phone or mail.

Note - Do not return parts to Weber-Stephen Products Co. without first contacting the 
Customer Service Center by phone or mail. Returning the part may not be necessary.

1. #8-16 x 5/8 inch screw 

2. Nylon lid handle (top) 

3. Nylon lid handle (bottom)

4. 1/4-20 x 5/8 inch screws (4) 

5. 1/4 inch flat washers (5)

6. Lid damper 

7. 1/4-20 acorn nuts (4) 

8. Lid 

9. Hinged cooking grate 

10. Charcoal grate 

11. Wire lid support 

12. 5/16 inch steel washers (6)

13. 5/16-18 hex nuts (8)

14. Bushings (2) 

15. 5/8 inch aluminum washers (16) 

16. 5/16 inch lock washers (8)

17. Bowl

18. Bowl dampers (3)

19. 1/4-20 hex nuts (6)

20. Nylon washers (12)

21. 1/4-20 x 1 3/4 inch bolts (5)

22. Frame handle 

23. Tool holders (3) 

24. Aluminum tubing plugs (4) 

25. 5/16-18 x 7/8 inch bolts (6) 

26. Ash catcher

27. Top frame 

28. 1/4-20 x 3 inch bolt

29. Lid tabs (2) 

30. Plastic tubing plug 

31. Tuck-Away support bracket 

32. Tuck-Away frame support

33. Bottom frame

34. Caster inserts (2)

35. Casters (2)

36. Axle 

37. Wheels (2)

38. Wheel hubcaps (2) 

EXPLODED VIEW / EXPLODED VIEW LIST

1
2
3

4
5

13
14

15
16

 18 

 19 

21
22

16

26
27

15

20

21

33

6
7
8

9

10

11
12

23
24

28

13
16

29
25
30
19

31
20

32

34
35
36

37

38

13

17

4

5
7

20

13

25
12
15

20

 19 

Printed in U.S.A.

12



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


